Parallel and Perpendicular Lines
Parallel -- _____________________________________________________________

Perpendicular -- ________________________________________________________

Lets discover how to tell if two lines will be parallel or perpendicular.
Example 1




     Example 2

y = 2x + 1   -- slope = _____


      y = -¼ x + 5   -- slope = _____


y = 2x – 4   -- slope = _____


      y = -¼ x + 2   -- slope = _____
Graph:




      Graph:


Example 3




     Example 4


y = x – 3   -- slope = _____


      y = (2/3)x – 2   -- slope = _____


y = x + 0   -- slope = _____


      y = (2/3)x – 5   -- slope = _____

Graph:




      Graph:



How can we tell by the equation if two lines will be parallel? 
Try graphing these perpendicular lines…
Example 5




     Example 6

y = -2x + 1   -- slope = _____


      y = -¼ x + 2   -- slope = _____


y = ½ x – 4   -- slope = _____


      y = 4x – 3   -- slope = _____

Graph:




      Graph:



Example 7




     Example 8

y = -2x + 1   -- slope = _____


      y = -¼ x + 2   -- slope = _____


y = ½ x – 4   -- slope = _____


      y = 4x – 3   -- slope = _____

Graph:




      Graph:



How can we tell by the equation if two lines will be perpendicular?
Conclusion:  If the slopes are the same the lines will be __________________.
          If the slopes are negative- inverses, the lines will be ________________.
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